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The total of the ages of Amar, Akbar and Anthony is 80 years. What was the total of
their ages three years ago ?

3R, fheR 3R TUH B! Hd I 80 IV & | IIH TN Yd I 31 BT AT fooed =T UT?
A.71 years
B.72 years
C.74 years
D./7 years
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Anuj iIs 5 years older to Barkha and 7 years younger to Chandan, while Barkha
and Dheeraj are twins. How many years older is Chandan to Dheeraj ?

3ol IET ¥ 5 T 981 § 3R G+ | 7 ITd Dl &, SdiPp av@l 3Mi¥ e
Sedr 81 9 A R fram A ST 82

(A) 10 (B) 18

(C) 14 (D) V=

)
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If you write down all the numbers from 1 to 100, then how many times do you write 3

?

gic 3T 1 ¥ 100 dod i GHT T fer@ €, dl 31U 3 Bl fod— 9= fera?
A.11
B.18
C.20
D.21
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The total number of digits used in numbering the pages of a book having 366 pages is
366 JSI dTcil Uh J&ich & Ui i shHilcbd - H Ugdd 3{hi Dl Pl awg
A.732

B.990

C.1098

D.1305
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A man wears socks of two colours - Black and brown. He has altogether 20 black socks
and 20 brown socks in a drawer. Supposing he has to take out the socks in the dark,
how many must he take out to be sure that he has a matching pair ?

W&mﬁr@mﬁ%ﬁﬁusﬂdl% SIaT 3R HRT| I J1¥ Teh 1S H Pt fAefrebr
20 T A 3R 20 YR T AN g | A TSN b S e H Aol Feprerr g, ?ﬁa‘s’
AT H3A & ot for 39 Uy Hd @H ara1 ST g, 39 b d%ﬁ%'“'w
A3

B.20
C.39
D.None of these
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Q. We have 16 columns and 18 rows of students in a playground and distanc
between the two students is 1.5metres. The length of the row of students is

SHR U U Wdl & ASTH A BFEl & 16 ¥H 3T 18 Ufdadi & 3R &1 Ol & §
B1 g3t 1.5 Hiex 71 BT B Ufed o1 daTS o-

(A) 20.5m (B) 22.5 m

(C)22m (D) 25.5 m

)



What is the product of all the numbers in the dial of a telephone ?
TH cAIBH & SIad § JH FaRl &1 UHHd 1 8Idl g2
A.1,58,480

B.1,59,450

C.1,59,480

D.None of these
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Q. A school has 2100 students. For every 20 students there Is one class
monitor. The number of monitors in the school is

wmﬁzmow%’l YD 20 DI & o€ Uh H&T ST HHIC gidT 8 | THd
H Hi-IeX B ISAT T 6-

(A) 100 (B) 75

(C) 80 (D) 85

)
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Q.In an examination, a student scores 4 marks for every correct answer and
loses 1 mark for every wrong answer. If he attempts in all 60 question and
secures 130 marks, the number of question he attempts correctly, Is

TP T ¥, TP B AP Tl St & (AT 4 3 WP Hdl g 3R & Ted
IR & 1T 1 86 @l Sa1 8| afe a8 Tt 60 U T UATH BT € 3fR 130 3P DI
PR AT s, 9 ST P Tt UHl B I 1 8-

(A) 35 (B) 38 —

(C) 40 (D) 42 !
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Averor had a number of shirt pieces to cut from a roll of fabric. He cut each roll of
equal length into 10 pieces. He cut at the rate of 45 cuts a minute. How many rolls

would be cutin 24 mlnutes ?
kcb cl\rIIObWObUSOkab Qlﬂﬁdvld ]%’IQ%QTC;OI? CObS ﬁld{-l"l SRR Q'1®II$

% T d om 102@13[@?%% B%ﬁ45 Fe U e Pl Y Heldi Bl 24
e o frd e H1e ST

A.32 rolls
B.54 rolls
C.108 rolls
D.120 rolls

)
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There are deer and peacocks in a zoo. By counting heads they are 80. The number of
their legs is 200. How many peacocks are there ?

U RITSITR A R0 IR AR Bld & | RR MM iR d 80 Bd & | 39 U b1 TBAT 200
gidl g1 fpda AR 8-
A.20
B.30
C.50
D.60
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Q. A zoo has tigers and sparrows and they are 70 in number on counting thel
heads and the number of their legs_ is 210. How many sparrows are there?

Uo fafgarey | ary o faf$a § oy S R 9 e e T 0 2
3R I W FT H&AT 210 BTl ¢ 1 A 1 Pifore fovat Rifsa &7

(A) 37 ok

(C) 55 a8

)
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If 2 candle In box number 1 is placed in box number 2, then box 2 has
thrice the number of candles that box 1 has. If 4 candle from box 2 is
placed in box 1 ,then box 1 has thrice the number of candles that box 2
has . How many candles were there in box 1 and box 27

gfe S R 1 H 2 e &l d]e AaR 2. H W1 ST g,

! YA thrice Bt & oIl.sIdd 1 H | TG T2 T 4]

I ST 1 T 3 HIHT b1 TBAT thrice Bldl 8 ol dic
%‘rﬂlﬂnﬁmaﬁ

(A)1,2 (B) 7,5
(C)5,7 (D)4 ,6

RICIES P,
|

EECIRIRN
113?R®|| 2
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The weights of 4 boxes are 70,50, 30, and 90 kilogram. Which of the

following can’t be the total weight in kilograms, of any combination of
these boxes and ion a combination a box canbe used only once?

4 I BT g 70, 50, 30 3R 90 fretumy g1 9 & | &I A1 fharmm § o
goi- g1 gl UPbdl §, 3 dIadl 3M¥ AT & I A Ueh 9ia9 UH IR H
$9d TP dR fS=1 g1 Ihd1 82

(A) 220
(B) 210
(C) 240
(D) 170

e
O
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Your age is 10 years less than half of your mother’s age . Mother is 5 years
younger than your father , if your father is 45 years old , then what is your
age ?

3MYD! IY 3TUD! AT B I & MY T 10 T B g | AT 3MuP fUar d 5 Jq1a
BIdI 7, 3R 3TuSP fUdT 1 39 45 T 7, I TUH 39 FT 82

(A) 20 years

(B) 15 years
(C) 10 years I
(D) 5years
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What will be the number , If it Is rotated above the top and )
bottom and its number Is replaced by each other , then what

will It Increase to 12 ?

=T 1 g1, afe 39 HUR SR i ¥ HUR AT AT 3iX
%mﬁwaﬂ%ﬁmﬁmmﬁrwwgﬁ

(A) 20
(B) 86
(C) cnd
(D) 12
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Q. In ASEAN Summit, all leaders shake hands with each other once. How many
handshakes will there be alto‘%ether If there are 15 leaders?

MR RRER gWad §, U AdT13ll U IR Uh-gON & 1Y g1 A g1 15
Ad1 & i foa e Bl aw

(A) 105 (B) 85

(C) 75 (D) 100

)
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Q. Mukesh is 40 years old and he is five times as old as his brother Rohit.
When Mukesh is thrice as old as Rohit then age of Mukesh is

40 1A $1 © 3R 98 U+ HT JAfed | Urd AT 9813 | 99 Hp I IAfed I
WWEET%HWW@W%-

(A) 44 years (B) 46 years

(C) 48 years (D) 40 years

)



